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- Edioy 100,000& 53 5,300
SEFEHEEs =Y 325,000& +73| 2,275
ogsE M 3,450
AR HE 150,000& 20X 3,000
G=aMs 450,000 450
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OFstlt A= #S82 Hel 24 6,700
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70802 E X & 20,000 20,000 0

- 204 -




2AMd: 2322
M BT A =24
& 230z B CEE-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
201 ¢er24| 20,000 20,000 0
03 A2 Z Hl 20,000 20,000 0
O70802 M E 20,000,000& 20,000
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301 et d s 9,000 8,800 200
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HEEES Hs ¥ BEE 341,802 344,386 N2,584
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AlHI 138,758
T Hl 181,009
R BE 134,752 110,836 23,916
= 22,035
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L Hl 65,284
X2 =2 HiX 42,000 42,000 0
AlHI 35,700
T Hl 6,300
101 @144 dl 42,000 42,000 0
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T Hl 6,300
04 JIZHHZ2XREES 42,000 42,000 0
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01 2284 30,000 0 30,000
OC&HE JIZEA EES 30,000, 000& 30,000
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T Hl 115,725
FEEM 85 NA 182,650 210,150 A 27,500
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OME2EHE AIZHYIIM(IZ2HH) 31,714
- AHE 21,657,000& 21,657
ZH22Y 1,754
- A2 2RSS 5,220 *28A| 2tx12& 1,754
23 E x| 91,870& x1H « 128 1,103
HHZAH| 130,000 x1H = 12& 1,560
- 2O HI 240,000 x1H x12& 2,880
oD Al Y|
1,804,750 x84%*86%*1/30%1/7x140Al 2+ 870
- =203 242 28,198,000 *4.5% 1,269
- IEEE R2EHS3 28,198,000& *1.5% 423
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ZeZ e E el 1,200, 000& 1,200
oR%E 2¢ 300,000 300
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